® LOT NUMBER:
WHALE N DATE PURCHASED: / /
Axon Task Chair

Model # WC-13AX-GO Brown
# WC-13AX-GO-GR Grey

ADULT ASSEMBLY REQUIRED DUE TO THE PRESENCE OF SMALL PARTS, SHARP
POINTS, SHARP EDGES AS RECEIVED

If you have any questions regarding assembly or if parts are missing, DO NOT return this item to the store
where it was purchased. Please call our toll-free customer service number and have your instructions and
parts list ready to provide the model name, part name or factory number:

1-866-942-5362

Pacific Standard Time: 8:30 a.m. - 4:30 p.m., Monday to Friday
Or visit our website at www.whalenfurniture.com
Or e-mail your request to parts@whalenfurniture.com

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION.
PLEASE READ AND KEEP FOR FUTURE REFERENCE.
Date 2020-11-25 Rev. 0001-B




Parts and Hardware List

Please read completely through the instructions and verify that all listed parts and hardware are present
before beginning assembly.

A — Backrest (Qty. 1) B — Seat Cushion (Qty. 1) CL — Left Armrest (Qty. 1)

a3) )

E — Telescoping Cover (Qty. 1)

e

F — Gas Lift (Qty. 1) G - 5 Star Be (Qty. 1) H — Caster (Qty. 5)
D) Qg (©)
(1) 1/4” x 3/4” Bolt (2) 1/4” x 1-1/4” Hex Head Bolt (3) 5/16” x 17 Bolt
(Qty. 4+1 extra) (Qty. 4+1 extra) (Qty. 4+1 extra)
o () @Eﬁg P
(4) 1/4” x 1-1/4” Socket Head Bolt (5) Wood Plug (6) Hex Wrench (7) Touch-up Pen
(Qty. 2+ 1 extra) (Qty. 2+ 1 extra) (Qty. 1) (Qty. 1)

A touch-up pen has been provided to minimize the small nicks or scratches that may occur during
assembly or shipping.

Tools required: Hex wrench (provided).

2



Assembly Instructions

. Unpack the unit and confirm that you have all the hardware and required parts.

. To begin assembly, place 5 Star Base (G) upside down and press the Casters (H) into the holes at the
end of each leg.

. Turn the Star Base (G) upright and insert the thick end of the Gas Lift (F) into the center hole of Star
Base. Then position the Telescoping Cover (E) over the Gas Lift (F) and rest it on the Star Base.



Assembly Instructions

g‘El\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘

2 x 4

. J

4. For easy assembly, place Seat Cushion (B) upside down on the top surface of carton. Align and attach
Left Armrest (CL) to the Seat Cushion (B) using two 1 1/4” Hex Head Bolts (2), aligning the holes.

5. Insert one 1 1/4” Socket Head Bolt (4) through the countersunk hole on the Left Armrest (CL) and
screw into the threaded inserts on the side of Seat Cushion (B). When assembled, tighten the bolts with
the hex wrench provided.

6. Repeat the same process to attach the Right Armrest (CR) at the opposite end.

7. Align the Mechanism (D) over the pre-drilled holes on the underside of the Seat Cushion (B) with the
black tension knob facing the front of the seat. Insert and screw four 3/4” Bolts (1) into the mechanism
holes to attach it in place. Tighten all bolts with the hex wrench provided.



8.

10.

11.

Assembly Instructions

Pick up the Backrest (A) and align the mounting holes on back support with the threaded inserts on the
Seat Cushion (B). Attach it in place by inserting four 5/16” x 1” Bolts (3) with the enclosed hex wrench.

Turn the assembled seat upright and locate the
center hole of Mechanism (D) over the Gas Lift
(F). Press down firmly until connection is secure.

Insert Wood Plugs (5) to cover the countersunk
holes on Armrests (CL and CR).

Before using your chair, ensure that all the bolts
are fully tightened for safety. See easy adjustment
instructions to ensure custom comfort.

NOTE: Please keep the hex wrench and check
all bolts periodically to ensure these remain

tightly fastened.

@X2




ADJUSTMENT INSTRUCTIONS

1. To Adjust Seat Height:

While seated, lean forward and reach under the right side of the chair to find the handle. Lift the handle and
raise your body up slightly to allow the chair to rise to the desired height. To lower the seat, lift the handle
while applying more weight downward on the seat. The chair will descend until the handle is released or the

chair reaches the bottom position.

2. To Operate Tilt Lockout:

While seated, reach under the right side of the chair to find the height adjustment handle. Pull the handle all
the way out (away from the gas lift) to allow the chair to tilt backwards. To lock the chair in the upright or
vertical position, sit upright and push the handle in towards the gas lift.

3. To Adjust Tension on The Tilt:

Reach under the front center of the chair, grasp the round knob and turn it counter-clockwise to stiffen the
tilt mechanism. Turn the knob clockwise to loosen the tilt mechanism. Turn the knob until the desired

resistance is reached.




INFORMATION FOR USE

1. This is one type C office chair for commercial or home use. Please use it only on smooth, even
flooring.

2. The height of the seat can be raised up and down by adjusting the handle of the mechanism. The
back can tilt after you pull the handle out.

3. Please check all bolts, screws and knobs are tight at least every 3 months or as needed.

4. If parts are missing, broken, damaged or wrong, please stop using this product until repairs are
done by a trained person.

5. Dust frequently with a soft dry cloth in the direction of the grain.

6. Only a trained person may replace or repair seat height adjustment components.

4 WARNING

Do not exceed the maximum load capacity of 300 pounds (136 kg).

Do not stand or step on this chair.

Do not sit on the front edge of the chair.

Do not seat for more than one person at a time.

Use over smooth, level, seamless surface only.

Do not use this chair unless all bolts, screws and knobs are firmly secured.
Dispose of packing material properly. Do not use plastic cover as head covering. It may cause
suffocation.

Use this chair for its intended purpose only.

Use mild detergent only for cleaning.

e Failure to follow these warnings could result in serious injury.

AWARNING THIS UNIT IS INTENDED ONLY FOR USE WITHIN THE
MAXIMUM WEIGHTS INDICATED. USE WITH LOAD HEAVIER THAN THE
MAXIMUM WEIGHTS INDICATED MAY RESULT IN INSTABILITY, CAUSING
POSSIBLE INJURY.

LIMITED WARRANTY

We are confident that you will be delighted with your Whalen Furniture purchase.
Should this product be defective in workmanship or materials or fail under normal use, we will
repair or replace it for up to one (1) year from date of purchase. Every Whalen Furniture product is
designed to meet your highest expectations. We guarantee that you will immediately see the value
of our fine furniture.
To make a warranty claim, contact Parts Department. Provide model number, proof of purchase,
description of the problem and obtain return authorization. At its option Whalen Furniture will:

(a) Supply compatible components of current manufacture.

(b) Repair the customer’s component.
The customer must prepay freight on any components returned to the factory. Return freight on
components still in warranty will be paid by Whalen Furniture.
This warranty gives you specific legal rights and you may also have other rights which vary from
province to province (state to state).

Customer Service: 1-866-942-5362
8:30 a.m. - 4:30 p.m., PST, Monday to Friday

7






® NUMERO DE LOT :
DATED’ ACHAT: / /

Fauteuil de bureau Axon

Modele n° WC-13AX-GO Brune
n®° WC-13AX-GO-GR  @Gris

MONTAGE PAR UN ADULTE REQUIS EN RAISON DE LA PRESENCE DE PETITES
PIECES ET DE BORDS ET COINS COUPANTS A LA RECEPTION

Pour toute question sur le montage ou en cas de piéce manquante, NE PAS retourner cet article au point de
vente. Appeler notre numéro sans frais de service a la clientéle en ayant en main les instructions et la liste des
pieces pour indiquer le nom du modele et de la piece ou le numéro d’usine :

1-866-942-5362

Heure normale du Pacifique : entre 8 h 30 et 16 h 30, du lundi au vendredi
ou visiter notre site Web www.whalenfurniture.com
ou transmettre une demande par courriel a parts@whalenfurniture.com

CE LIVRET D’ INSTRUCTIONS CONTIENT D’ IMPORTANTES CONSIGNES DE SECURITE.
LIRE ET CONSERVER POUR REFERENCE FUTURE.
Date 2020-11-25 Rév. 0001-B




Liste des piéces et de la quincaillerie

Lire toutes les instructions et s’assurer d’avoir toutes les pieces mentionnées avant de débuter le
montage.

A — Dossier (Qté 1) B — Coussin de siege (Qt¢ 1)  CL — Appuie-bras gauche (Qté 1)

(=
g
i

CR — Appuie-bras droit (Qté 1) D — Mécanisme (Qté 1) E — Couvercle télescopique (Qté 1)
——— S
=
F — Vérin a gaz (Qté 1) G — Base a cinq branches (Qté 1) H — Roulette (Qté 5)

(1) Boulon 1/4 po x % po (2) Boulon a téte hexagonale 1/4 pox 1 “4po  (3) Boulon 5/16 po x 1 po
(Qté 4+1 extra) (Qté 4+1 extra) (Qté 4+1 extra)

o () @Eﬁg m

(4) Boulon a téte creuse 1/4 po x 1%apo  (5) Fiche de bois ~ (6) Clé hexagonale  (7) Crayon a retouche
(Qté 2+ 1 extra) (Qté 2+ 1 extra) (Qte 1) (Qte 1)

©)

Un crayon a retouche est fourni pour minimiser les petites marques ou éraflures pouvant survenir lors du
montage ou de 1’expédition.

Outil requis : clé hexagonale (fournie).

\S]



Instructions de montage

. Ouvrir la boite et s’assurer d’avoir toute la quincaillerie et les piéces requises.

. Pour débuter le montage, placer la base a cinq branches (G) a I’envers et pousser les roulettes (H) a
I’extrémité de chaque branche.

. Tourner la base a cinq branches (G) a I’endroit et insérer le bout large du vérin a gaz (F) dans le trou du
centre de la base. Puis placer le couvercle télescopique (E) sur le vérin a gaz (F) et le laisser reposer sur
la base a 5 branches.



Instructions de montage

g‘El\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘

2 x 4

. J

4. Pour un assemblage facile, placer le cousin de siege (B) a I’envers sur la surface supérieure du carton.
Centrer et fixer I’appuie-bras gauche (CL) au cousin de siege (B) avec deux boulons a téte hexagonale
1/4 po x 1 %4 po, en alignant les trous.

5. Insérer un boulon a téte creuse de 1 % po (4) dans le trou fraisé de ’appuie-bras gauche (CL) et visser
dans les inserts filetés sur le coté du coussin de siege (B). Une fois assemblé, serrer tous les boulons
avec la clé hexagonale fournie.

6. Répéter la méme procédure pour fixer I’appuie-bras droit (CR) a I’extrémité opposée.

7. Centrer le mécanisme (D) sur les trous percés sous le cousin de si¢ge (B) avec le bouton de tension noir
face au devant du siege. Insérer et visser quatre boulons % po (1) dans les trous du mécanisme pour le
fixer en place. Serrer tous les boulons avec la cl¢ hexagonale fournie.

4



8.

10.

11.

Instructions de montage

Centrer les trous de la plaque de support arriere du dossier (A) avec les douilles taraudées du cousin de
siege (B). Fixer le dossier en place en insérant quatre boulons 5/16 po x 1 po (3) avec la cl¢ hexagonale
fournie.

Tourner le siege assemble a I’endroit et placer le
trou central du mécanisme (D) sur le vérin a gaz
(F). Appuyer fermement vers le bas pour assurer
la jonction des deux picces.

Insérer les fiches de bois (5) pour couvrir les
trous fraises sur les appuie-bras (CL et CR).

Avant d’utiliser le fauteuil, s’assurer que tous les
boulons soient serrés a fond par mesure de
sécurité. Consulter les instructions simples sur le
réglage pour assurer un confort sur mesure.
REMARQUE : Conserver la clé hexagonale et
vérifier réguliérement les boulons pour s’assurer
qu’ils demeurent serrés a fond.

=

@XZ

e




MODE D’EMPLOI

1. Pour régler la hauteur du siége :

En position assise, se pencher vers l’avant pour saisir la poignée du coté droit sous le fauteuil. Soulever la
poignée tout en relevant le corps légerement pour permettre au fauteuil de s’élever a la hauteur désirée.
Pour baisser le siege, soulever la poignée tout en appliquant plus de poids vers le bas sur le siege. Le
fauteuil descendra jusqu’a ce que la poignée soit libérée ou que le fauteuil atteigne la position la plus basse.

2. Pour verrouiller ’inclinaison :

En position assise, atteindre la poignée de réglage de hauteur située sous le coté droit du fauteuil. Tirer la
poignée completement vers [’extérieur (en direction oppose du verin a gaz) pour permettre au fauteuil de
s incliner vers [’arriere. Pour bloquer le fauteuil en position droite ou verticale, s’asseoir en position droite
et pousser la poignée vers l’intérieur, en direction du vérin a gaz.

3. Pour régler la tension de l’inclinaison :

Atteindre le bouton rond situé sous le fauteuil, au centre. Tourner le bouton dans le sens inverse des
aiguilles d’'une montre pour rendre le mécanisme d’inclinaison plus rigide. Tourner le bouton dans le sens
des aiguilles d’une montre pour desserrer le mécanisme d’inclinaison. Tourner le bouton jusqu’a ce que la
résistance désirée soit atteinte.




INFORMATION SUR L’UTILISATION

1. 1l s’agit d’'une chaise de bureau de type C destinée a un usage commercial ou résidentiel. L’utiliser sur un
plancher lisse et égal.

2. La hauteur du siege peut étre augmentée ou diminuée en réglant la poignée sous le mécanisme.

L’inclinaison du dossier s’ajuste en tirant la poignée vers 1’extérieur.

S’assurer au moins tous les trois mois ou au besoin que tous les boulons, vis et boutons demeurent serrés.

4. Si des pieces manquent, sont brisées, endommagées ou inadéquates, cesser d’utiliser ce produit jusqu’a ce

qu’il soit réparé par une personne spécialisée.

Epousseter fréquemment avec un chiffon doux et sec dans le sens du grain.

6. Seule une personne spécialisée peut remplacer ou réparer les composants de réglage du siege.

b

9,

A\ AVERTISSEMENT

Ne dépassez pas la capacité de charge maximale de 136 kg (300 livres).

Ne pas se tenir ni grimper sur ce fauteuil.

Ne pas s’asseoir sur la bordure avant du fauteuil.

Ne vous asseyez pas pour plus d’une personne a la fois.

Utiliser sur une surface lisse, de niveau et sans dénivellation.

Ne pas utiliser ce fauteuil a moins que tous les boulons, vis et boutons soient solidement fixes.
Eliminer adéquatement le matériel d’emballage. Ne pas utiliser de housse de plastique pour se couvrir la
téte car cela causerait la suffocation.

Utiliser ce fauteuil pour son usage prévu seulement.

Utiliser du détergent doux seulement pour nettoyer.

Le défaut de suivre ces avertissements pourrait causer des blessures graves.

A\ AVERTISSEMENT CETTE UNITE EST DESTINEE A UTILISATION SELON LES
POIDS MAXIMAUX INDIQUES. L’UTILISATION AVEC DES CHARGES PLUS
LOURDES POURRAIT CAUSER L’INSTABILITE ET DES BLESSURES.

GARANTIE LIMITEE

Nous sommes confiants que vous serez ravi de votre achat de Whalen Furniture. Si la fabrication ou les
matériaux de ce produit s’averent défectueux a 1’utilisation normale, nous le réparerons ou le remplacerons
jusqu’a concurrence d’un (1) an suite a la date d’achat. Chaque produit Whalen Furniture est congu pour
répondre aux attentes les plus élevées. Nous vous garantissons d’apprécier sur-le-champ la valeur de nos
meubles de qualité supérieure.
Pour soumettre une réclamation en vertu de la garantie, communiquer avec le service des pieces. Fournir le
nom du modéle, une preuve d’achat, une description du probléme et obtenir une autorisation de retour. A sa
discrétion, Whalen Furniture :

(a) Fournira les pieces compatibles de fabrication courante.

(b) Réparera le composant du client.
Le client doit payer a 1’avance le transport de tout composant retourné a 1’usine. Les frais de transport de
retour des composants garantis seront assumés par Whalen Furniture.
La présente garantie vous donne des droits 1égaux spécifiques et vous pourriez également bénéficier d’autres
droits qui varient d’une province a 1’autre (état a I’autre).

Service a la clientéle : 1-866-942-5362
Entre 8 h 30 et 16 h 30, heure normale du Pacifique, du lundi au vendredi.






